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Choose the correct option                      (1 x 15=15) 

1. The Sum of first n natural numbers is – 

a. 𝑛 

b. 
𝑛(𝑛+1)

2
 

c. 𝑛2 

d. 
𝑛2

2
 

 

2. The Sum of the squares of the first n natural numbers is – 

a. 𝑛2 

b. 
1

6
𝑛(𝑛 + 1)(2𝑛 + 1) 

c. 
1

6
(𝑛 + 1)(2𝑛 + 1) 

d. 
1

6
𝑛(𝑛 + 1)(2𝑛 + 3) 

 

3. The Sum of the cubes of the first n natural numbers is – 

a. 𝑛3 + 1 

b. (
𝑛(𝑛+1)

2
)

2

 

c. 𝑛3 

d. 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑠𝑒. 

 

4. 1 + 3 + 5 + ∙∙∙  +(2𝑛 − 1) =  ?  

a. 𝑛3        b.   𝑛4       c.    𝑛2          d.    𝑛5 

5. ∀𝑛 ∈ ℕ ,  5(2𝑛+2) − 24𝑛 − 25 is divisible by –  a. 567    b.  576   c.   756    d. 675 



6. ∀𝑛 ∈ ℕ ,  3(2𝑛+2) − 8𝑛 − 9 is divisible by –  a. 67    b.  76   c.   46    d. 64 

7. ∀𝑛 ∈ ℕ and 𝑛 ≥ 0 ,  3(4𝑛+1) + 2(2𝑛+2) is a multiple of -   a. 5       b. 6      c. 7      d. 8 

8. ∀𝑛 ∈ ℕ and 𝑛 ≥ 1 ,  (32𝑛
− 1) is always divisible by  -   a. 5       b. 6      c. 7      d. 8 

9. Which of the followings is false ?  

a.   𝑛 < 2𝑛 

b.   3𝑛 > 2𝑛 

c.   3𝑛 < 𝑛3 , 𝑤ℎ𝑒𝑟𝑒 𝑛 ≥ 4 

d.   None of these. 

 

10. ∀𝑛 ∈ ℕ ,  4𝑛 + 15𝑛 − 1 is a multiple of  –  a. 9    b.  7   c.   5    d. 13 

11. ∀𝑛 ∈ ℕ ,  23𝑛 − 1 is divisible by –  a. 6    b.  7   c.   5    d. 3 

12. ∀𝑛 ∈ ℕ ,  15(2𝑛−1) + 1 is divisible by –  a. 11    b.  13   c.   15    d. 16 

13. ∀𝑛 ∈ ℕ ,  12𝑛 + 25(𝑛−1) is divisible by –  a. 11    b.  13   c.   15    d. 16 

14. 1 ∙ 2 + 2 ∙ 3 + 3 ∙ 4 + ∙∙∙  +𝑛(𝑛 + 1) = ? 

a.   𝑛2 

b.   
1

3
𝑛(𝑛 + 1)(𝑛 + 2) 

c.    
1

6
(𝑛 + 1)(2𝑛 + 1) 

       d.    
1

6
𝑛(𝑛 + 1)(2𝑛 + 3) 

 

15. 12 + 32 + 52 +  ⋯ + (2𝑛 − 1)2 = ?  

 

a. 
𝑛

3
(4𝑛2 − 1) 

b. 
1

3
(4𝑛2 − 1) 

c. 
𝑛

5
(4𝑛2 − 1) 

d. 
𝑛

3
(𝑛2 − 1) 
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